UGC NET 2021 Hindi SH1

Topic:- Hindi_SH1_Set1_A
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IR YA o etk O, 4 fou e fasedi § 9 g 3w w1 9 Fifa -
(1) A SRREH 54 & 3R R, A 6l 5 =@ 2

(2) A RRGH H &, e R. A il |l =aren 4 2|
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(4) A 3H™ 2, ©ifdd R 99 2

[Question ID = 89][Question Description = Q89_Hindi_SH1_Set1_A]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

90)
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(4) A 3 2, ¢ifeT R 5 2

[Question ID = 90][Question Description = Q90_Hindi_SH1_Set1_A]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- Hindi_SH1_Set1_B

1)
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[Question ID = 91][Question Description = Q91_Hindi_SH1_Set1_B]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2)
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[Question ID = 92][Question Description = Q92_Hindi_SH1_Set1_B]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]

3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3)

T T=feigg a1 =E® e i T9E W I (5T T T § B g
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[Question ID = 93][Question Description = Q93_Hindi_SH1_Set1_B]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

4 fEm ; et sEE A T S T e e e e | 8 gh
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[Question ID = 94][Question Description = Q94_Hindi_SH1_Set1_B]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

%) fdm ; frfafa sEE F1 SEEF T s T w1 I i e fawe § @ gh
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[Question ID = 95][Question Description = Q95_Hindi_SH1_Set1_B]

1.1
2.2
3.3
4. 4

[Option ID = 377]
[Option ID = 378]
[Option ID = 379]
[Option ID = 380]

Topic:- Hindi_SH1_Set1_C
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[Question ID = 96][Question Description = Q96_Hindi_SH1_Set1_C]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]
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[Question ID = 97][Question Description = Q97_Hindi_SH1_Set1_C]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]
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[Question ID = 98][Question Description = Q98_Hindi_SH1_Set1_C]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]
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[Question ID = 99][Question Description = Q99_Hindi_SH1_Set1_C]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]
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[Question ID = 100][Question Description = Q100_Hindi_SH1_Set1_C]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

Topic:- GP10_D2_SH1_SET2_A

1) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTech (60) | MCA (60) | MTech (30) | MPhil (20) | Integrated MTech (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

aiferat @1 Araensil gda srerior Bifsie siie offl fw a1e gear @1 saz &t :
forrerferRaa anferet 3 5 firoor adl 3 ura fMireer urgral 3 onerifdsa frenffRil @1 Rrazor o srn 3

feruvfl : wisowml i yeu A yAd urgaas &t aiftreaa AR corfdt ¥

TR
af | 2@ (60) | waafin (60) | wrzw (30) | wrfsar (20) | waRea aew (30)
2016| 45 52 25 16 26
2017| 55 56 26 18 24
2018| 48 43 21 14 25
2019| 53 40 23 15 23
2020 50 46 28 13 27

In which year, was there the highest student enrollment?
o1 ad 3 srffravae fRrenelf swaiasor gam & ?

[Question ID = 1951][Question Description = S2_qSNz_PG_GP10_Q01]
1. 2019

[Option ID = 7801]
2. 2017

[Option ID = 7802]
3. 2020

[Option ID = 7803]
4. 2016

[Option ID = 7804]

2) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60) (30) (20) (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020| 50 46 28 13 27

b

r——



aiferat T Araensfl yde srerIel HIfsTu siiz offa fou a1w gpst @t Iar difvre :
forgaiferRaa auferet 3 5 firoor aul 3 uia oo urgapgil 3 onFifcsa faenfit o1 fazur &= srm 3
ferauft : wrco®l d yod A YA urgRIad & siferasaen M gorfedt 3

TR
ad @t 2@ (60)warzite. (60)azs (30)wrfba (20 )k wizs (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
20200 50 46 28 13 27

What is the difference between average vacant seats in BTech and average vacant seats in MTech during 2016-20.
2016 - 20 @ Sizrar &1 o 3 siira oo M oiie waress 3 sira o A & da siae Reaen 3 ?

[Question ID = 1952][Question Description = S2_qSNz_PG_GP10_Q02]
1. 4.2

[Option ID = 7805]
2. 43

[Option ID = 7806]
3. 4.4

[Option ID = 7807]
4. 41

[Option ID = 7808]

3) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60) (30) (20) (30)
2016| 45 52 25 16 26
2017 55 56 26 18 24
2018| 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

aiferat @1 Araemsll ydm srerIor HIfdie siiz offr fow a1w grst T 3= Eifvie :
forgarferfRaa aifert 3 5 firoor auf 3 uia fieor urgerayll 3 omwifpa fRrenffil w1 fraur o= s 3
feouvft : wrcoml # yga A yAw uigaad b siftraaa A goridt &

rRIaH
ad (. 2w (60)eniie. (60)waes (30)wifba (20)|mRea wew (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
20200 50 46 28 13 27

Which year has highest number of vacant seats?
fopar ad 3 feep At 6 iz siftrwaa 3 ?

[Question ID = 1953][Question Description = S2_qSNz_PG_GP10_Q03]

1. 2019

[Option ID = 7809]
2. 2020

[Option ID = 7810]
3. 2018

[Option ID = 7811]
4. 2017

[Option ID = 7812]

4) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60) (30) (20) (30)
2016 45 52 25 16 26
2017 55 56 26 18 24




2018 48 43 21 14 25

2019 53 40 23 15 23

2020 50 46 28 13 27

aiferast @ Araemsil ydm srerIor BIfSie Sii off fou a1w grer @I IR ¢ifvre :
forgaiferRaa anferet 3 5 firoot aul & uia fireet urgatl 3 snFHifepa fRrenffl @1 ferarur &= s 3
feouvft : wreom! # yga A yAw urghaA bt siftraaa A gorfdt &

arRIa
ad [ 2w (60)eafie. (60)eaes (30)wifisa (20)|mRea wew (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
20200 50 46 28 13 27

Which course has minimum number of total vacant seats during 2016 to 2020?
2016 a1 2020 @ 3ot b1 wiRf 3 @er f¥ep el i vizen oyraan 3 ?

[Question ID = 1954][Question Description = S2_qSNz_PG_GP10_Q04]
1. B.Tech/dt2®

[Option ID = 7813]
2. MCA/uasfte.

[Option ID = 7814]
3. M.Tech/uwsaeas

[Option ID = 7815]
4. M.Phil/wafber

[Option ID = 7816]

5) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Note: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60) (30) (20) (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

aiferat T Araensfl yda sierIer HIfsTu silz offa fou s1w grst @t Jar difvre :
forgaiferRaa auféret 3 5 firoor aul 3 uia oot urgapgil 3 sndHifcpa faenfeil @1 fazur & srm 3
feouvft : wrsowl # yod AN g® uigamdA &l sifrpaa M corfdt &

AR
ad [ 2@ (60)wnfte. (60)wnis (30)wafba (20)=aReda wiias (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018| 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

What is the difference between average enrollment in 2016 and average enrollment in 2017?
2016 3 3iie1a oieticdol a 2017 3 siiId sidAicpel & dia &I 3idR o= 8 ?

[Question ID = 1955][Question Description = S2_qSNz_PG_GP10_Q05]
1. 3.0

[Option ID = 7817]
2. 3.3

[Option ID = 7818]
3. 3.4

[Option ID = 7819]
4. 3.2

[Option ID = 7820]

Topic:- GP10_D2_SH1_SET2_B

1) Who among the following is the national coordinator for engineering courses to be launched on SWAYAM platform?

‘TRl wiewRt Uz 3R P Siiel arcl UIGRIaydl 1 AR AHAGRID Diol 3 7



[Question ID = 1956][Question Description = S2_qSNz_PG_GP10_Q06]
1. AICTE/u 3ms 2t & €

[Option ID = 7821]
2. NCERT/vor 2ft € am &

[Option ID = 7822]
3. NPTEL/tor di & € uer

[Option ID = 7823]
4. UGC/aoft ot

[Option ID = 7824]

2) What is the name of the software application that facilitates building an early accessible bookmark warehouse that becomes searchable to members or
the public?

3 ATFCAR IGIYRIIET BT TRAT oIl 3 Sl JoIH Ugd dIcl YD les-HUsRays forarfor 3 AerIas 3 3iiz Sit ARl 31erar ATHAIGA Sioll CRT Aci9l AW dol SIIdr 3 ?

[Question ID = 1957][Question Description = S2_qSNz_PG_GP10_Q07]
1. Social Bookmarking/zmanfSis yeamRiosot

[Option ID = 7825]
2. Database Management System/seri1 yatror yorcit

[Option ID = 7826]
3. Enterprise Resource Planning/3emer et forilstor

[Option ID = 7827]
4. Reference Management Tool/3icsf ysitrer 3u2ur

[Option ID = 7828]

3) Given below are two statements

Statement I: Reliability refers to whether a test measures what it says it measures.

Statement Il: Validity refers to whether a test consistently yields the same or similar scores.

In light of the above statements, choose the most appropriate answer from the options given below
oflY oY werar fRw ore 3 ¢

@l - | 1 ReawciRiar o JAdd 31 30z 2 b o oI udterr 32 dist o1 A6 dar 3 Sl ds adr 3 b ag amaan 3
@ - || : deran o1 JAdda 3 3R 3 5 @R oI udlgivr eI wu A adl A1 WU FOR I 3

SWRITD Dol D ATclld 3, ofd Ry s1e frwcdl 3 A AR IWYD IaR @I Il HIRE :

[Question ID = 1958][Question Description = S2_qSNz_PG_GP10_Q08]
1. Both Statement | and Statement Il are correct/w@ermr | iz || SYeil 28t &

[Option ID = 7829]
2. Both Statement | and Statement Il are incorrect/@ermr | sz || GHeil sterT &

[Option ID = 7830]
3. Statement | is correct but Statement Il is incorrect/wemt | 31d 8, fboq @err |l arera 8

[Option ID = 7831]
4. Statement | is incorrect but Statement Il is correct/@err | 1wt 2, fopoq werr |1 2@t &

[Option ID = 7832]

4) Metacognition comprises which of the following skills?
A. Planning

B. Developing

C. Monitoring

D. Costing

E. Evaluation

Choose the correct answer from the options given below:
forFetferfiac 3 2 Blot - wlot A wlorer MfrRisIoer & onfdrer 3 ?

A. foritsiol el

B. farprr o

C. ufdigor e

D. emera forerfzor @weon

E. geaiaer wIon

ofld Ru 1w sl 3 A A8} IR @1 ww=iet BRI :

[Question ID = 1959][Question Description = S2_qSNz_PG_GP10_Q09]
1. A, Band C only/@aet A, B iz C

[Option ID = 7833]
2. A, Cand E only/@act A, C 3l E

[Option ID = 7834]
3. B, Dand E only/aaer B, D sl E

[Option ID = 7835]
4. A, D and E only/aact A, D aiiz E

[Option ID = 7836]

5) Match List | with List Il

List | List Il

Learning Strategy |Action taken

IA. Planning and focusing attention |. Creating example




B. Organising and remembering |II. Self-questioning and self-testing

IC. Comprehension |III. Setting goal and timetables

D. Cognitive monitoring IIV‘ Using mnemonics, imagery

Choose the correct answer from the options given below:

St -1 ot 2t -1l A AR Bife :

it -1 Rrch -1l

(arferorar 2vrefifer) (b1 o1¢ wRfaré)

A. forilstor @ &11o1 Bfeea ol |. 351801 wolloll

B. Jio1fde 3iiz FA0T @0l Il. 3rrear gester @ 3ired udlgror

IC. aeror Il. crg=1 @ Jerar weoft forerfzor
D. Jstreicas ||V.Wﬁqﬁﬂl'lﬂ?ﬂﬁ$lq?ﬂ3'l

ofi<l fou a1e freul o A A& Ia= gl

[Question ID = 1960][Question Description = S2_qSNz_PG_GP10_Q10]
1. A-1,B-ll,C-lIl,D-IV

[Option ID = 7837]
2. AL, B, C-IV,D-I

[Option ID = 7838]
3. AN, B-IV,C-l,D-l

[Option ID = 7839]
4. A-IV,B-I,C-Il,D-lIl

[Option ID = 7840]

6) The kind of sample that is simply available to the researcher by virtue of its accessibility, is known as
YfereRIel & 3 YPR Pl b1 U 3 Sifel ST 3 Sl 31 3uoil uga @ ®Rvl oNermdl ®l Iucted 3 -

[Question ID = 1961][Question Description = S2_qSNz_PG_GP10_Q11]
1. Quota sampling/@ler yferarrer

[Option ID = 7841]
2. Snowball sampling/sitdicr yferrror

[Option ID = 7842]
3. Convenience sampling/Jjfdersiord yferarror

[Option ID = 7843]
4. Web sampling/da yfercrior

[Option ID = 7844]

7) Which among the following is the names for validity whereby researcher uses a future criterion measure, rather than a contemporary one?
3 Jera1 o feru fogorferRaa & A o= ot 3 RRIS GRI v 9lerddl FdIciiol #lelcUs AU & FATel UR Il ATGIGUS AT T YRIIPT Bl 8 ?

[Question ID = 1962][Question Description = S2_qSNz_PG_GP10_Q12]
1. Convergent validity/aifdrmst derar

[Option ID = 7845]
2. Predictive validity/srfereera derar

[Option ID = 7846]
3. Construct validity/zaon derar

[Option ID = 7847]
4. Concurrent validity/m@radf derer

[Option ID = 7848]

8) Given below are two statements

Statement I: If we are interested in the worldview of members of a certain social group, a qualitative research strategy that is sensitive to how
participants interpret

their social world may be preferable.

Statement II: If a researcher is interested in a topic on which little or no research has been done in the past, quantitative research may be easy to
employ because

there is little prior literature from which to draw leads.
In light of the above statements, choose the most appropriate answer from the options given below

o< < werar few ore 3 ¢

ool - | 1 afe s oferar amnfSre e o fva effemiur 3 R 7aa 3, vos ¥l spncare oner wmehfer siffmEimen a1 Al 3 St FrsfBrIl &Y sruehl ArNfSe gforn & e @
gfer 3t a

ot - || : afe Rpft oftererat &t wfr ¥ forewr 3 3 rrur srefia 3 aga a1 am wag oner o1dl g3 3, dl AGIIID Nl DIl fUD T FIoN RIS VT dga oo gd Afder som
Rrrl serrar firer a1

SWRITH Dll D 3AIellD 3, ofd fRu 31w freedl 3 A AT IWRYD IR BT WRI6l HIRTT :

[Question ID = 1963][Question Description = S2_qSNz_PG_GP10_Q13]
1. Both Statement | and Statement Il are correct/wmemer | siz || cleil 2@t &

[Option ID = 7849]
2. Both Statement | and Statement Il are incorrect/wert | 3iiz |l Slail stereT &

[Option ID = 7850]
3. Statement | is correct but Statement Il is incorrect/wmermer | 2@t 8, fboqg et | s1crT &

[Option ID = 7851]
4. Statement | is incorrect but Statement Il is correct/a@err | ster 8, foboq @eror Il 21t &

[Option ID = 7852]



9) Match List | with List Il

List | List Il

Research Design Type of study

IA. Sampling design I. Pre-planned design for analysis

B. Statistical design Il. Structured or well thought out instruments for collection of data|
IC. Observational design Ill. Advanced decisions about operational procedures

D. Operational design IV. Probability sampling design

Choose the correct answer from the options given below:

Syt -1 Bt 3l -1l A AR Bifde :

Rreht -1 Rzt Il

(oMer f3srz01) (31£2RToT T YobIR)

A. yftrerIeT f3strser |. freduor o fore yd fornfSra emsar

B. Fif¥sereht f3smsor Il sricosT FHopeur @ IR ar Ffrenfya suwzor
IC. 9gror f3sisor 1. garctor ugferit @ dder o aif3gn forofa

D. yeretor Bsirsor IIV.mnmmqﬁﬂaa%snsa

offd v a1 fyescul 3 3 w18 3= gfore :

[Question ID = 1964][Question Description = S2_qSNz_PG_GP10_Q14]
1. A-IV,B-I,C-ll,D-Il

[Option ID = 7853]
2. A-l,B-ll,C-IV,D-Il

[Option ID = 7854]
3. AN, B, C-,D-IV

[Option ID = 7855]
4. A-ll,B-IV,C-lil,D-l

[Option ID = 7856]

10) Given below are two statements

Statement I: In the 'before-and-after without control' design, a single test group or area is selected and the dependent variable is measured before the
introduction of the treatment.

Statement II: In the 'before-and-after with control’ design, two areas are selected but the dependent variable is not measured in both the areas for an
identical time-period before the

treatment.
In light of the above statements, choose the most appropriate answer from the options given below
off<r Sf weror fRw ore ¢
@l - | 'foriqur @ o gd - 3iik - ugar 3orser #, g wme USIVT APE AT i) BT TRI6T fpr SIrdr 3 3iR SURIR D IR¥ 3ol A gd fonlz ar @1 sirder fsen sirer 3
@l - |l : 'foriqur @& arer gd - iz - ugiq Rssa 3, <1 &gl o1 ariol s Strar 3 uveq 3uar A gd, el 8 §iqi 3 vas Aaret srafr @ fere fonk ar @1 raet orét R smar 3
IWRITH DGl D 3Telld A, ofd fRu 31w frepedl 3 A AT IURYD IR BT WRI6l HIRIT :

[Question ID = 1965][Question Description = S2_qSNz_PG_GP10_Q15]
1. Both Statement | and Statement Il are correct/wmermer | siz || il 2@t &

[Option ID = 7857]
2. Both Statement | and Statement Il are incorrect/@ert | 3fiz | Slail stere &

[Option ID = 7858]
3. Statement | is correct but Statement Il is incorrect/wmermer | 2@t 8, fpoqg e | srcrT &

[Option ID = 7859]
4. Statement | is incorrect but Statement Il is correct/aeret | s1eret 8, fvoq werat || 3wt &

[Option ID = 7860]

11) According to communication research findings, some amount of gossip is necessary for
eyt ofter foreapuf @ oRAR, forwaifeRaa 3 fpar @ fore eNSt sa a1 - 9ra sava® 3 ?

[Question ID = 1966][Question Description = S2_qSNz_PG_GP10_Q16]
1. Pro-social motivation/m@iwt - ugfler 3cgzur

[Option ID = 7861]
2. Prevention of distortion/faefer forareur

[Option ID = 7862]
3. Extending communication range/2iuur 3st @1 ¥ o

[Option ID = 7863]
4. Relocation of emotional affiliations/idemcre Jegarmsii ot gor: Fermoior

[Option ID = 7864]

12) Which of the following are important in intercultural communication?
A. Valuelessness

B. Absence of respect

C. Power distance

D. Individualism

E. Gender roles

Choose the correct answer from the options given below:

3fod: - ARDIaD Ayl 3 foraferRaa 3 A Pl - Blel Ascayyt 3 :



A. Ferdiorar

B. wmgarror &t srequf¥erfer

C. iRl & aea i

D. caftpare

E. cif3re yifdrere

ofl fou s1e feedl & I A8l Iar @1 <RIt HifSre :

[Question ID = 1967][Question Description = S2_qSNz_PG_GP10_Q17]
1. A,Band Conly/dac A, B siiz C

[Option ID = 7865]
2. B, Cand D only/@ae B, C sz D

[Option ID = 7866]
3. C,DandE only/dae C, D sik E

[Option ID = 7867]
4. A, Band E only/@ac A, B 3l E

[Option ID = 7868]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Smiles and laughter should be avoided when messages are serious.

Reason R: Non-verbal cues are always contextual like verbal communication

In light of the above statements, choose the correct answer from the options given below

ol A1 @erol RRu ot 3@ uap sifdraverot (Assertion A) @ %u 3 3iiz g1 3ud ®Rur (Reason R) & »u 3

sifdreperet (A) : SI Aco9r 3R 3, a9 PFTel a ol ardl sAHISH A adon aifdu
@Rrur (R) : 31z - onfdee Jid>a onfésed - AYwuT &I aze saen Yionefier kT &
SWRIP BUoll B ATelID 3, offd f3u frpeal 3 A A8 IR &1 T HIfdr ©

[Question ID = 1968][Question Description = S2_qSNz_PG_GP10_Q18]
1. Both A and R are true and R is the correct explanation of A/(A) siz (R) ieif 3t & afiz (R), (A) i 21t wameeen &

[Option ID = 7869]
2. Both A and R are true but R is NOT the correct explanation of A/ (A) ik (R) alsil a1 & uzag (R), (A) & 4t *m=n ol 3

[Option ID = 7870]
3. Ais true but R is false/(A) s 2, wog (R) srir &

[Option ID = 7871]
4. Ais false but R is true/(A) srica 8, udoq (R) 31 8

[Option ID = 7872]

14) Identify the sequence of human communication skills.
A. Public speaking

B. Group interaction

C. Relationship

D. Feed forward

E. Self - presentation

Choose the correct answer from the options given below
HATGIART AFYHUT - BIoICT D @I Dl Usdrol HIfSIe :

A. ardsifors siraor

B. a131g sroa: fogam

C. dder

D. 6Is wras

E. ¥a gegfa

off fow a1u el 3 2 A8 IR @I wRiel HIfdIT :

[Question ID = 1969][Question Description = S2_qSNz_PG_GP10_Q19]
1. B,D,E C, A

[Option ID = 7873]
2. A, C,D,B,E

[Option ID = 7874]
3. C,E,A D,B

[Option ID = 7875]
4. E,C,B,AD

[Option ID = 7876]

15) Match List | with List Il

List | List Il

ICommunication barriers Examples

IA. Psychological I. Use of technical language

B. Organisational Il. Poor retention

IC. Personal Ill. Functional specialisation

D. Semantic IV. Fear of challenge to authority|




Choose the correct answer from the options given below:

2t -1 Y 2t -1l A AR i :

fozeht -1 gt 11
(i0eror 3raten) (3c18201)

A. aroitfersmiforas |. crpofich) siruT w1 Yot

B. isrofora Il forger gferemzor (Yar f¥eorer)
C. Fafep Ill. gorafcas fafdrsdtazor

D. oregrel IV. qiftror @ goildl T srT

ofla R a1e Rrseul 3 A A& Ia= gfore

[Question ID = 1970][Question Description = S2_qSNz_PG_GP10_Q20]
1. A-1,B-Il,C-lll,D-IV

[Option ID = 7877]
2. A-Il,B-Il,C-IV,D-I

[Option ID = 7878]
3. AN, B-IV,C-l,D-I

[Option ID = 7879]
4. A-IV,B-l,C-Il,D-IlI

[Option ID = 7880]

16) What number should replace the question mark?
7, 8,9, 10, 12, 14, 16, 20, 21, 28, ?
ges1 Rics @1 wlat 2t iz yferrenfira wwf ?

7, 8,9, 10, 12, 14, 16, 20, 21, 28, ?

[Question ID = 1971][Question Description = S2_qSNz_PG_GP10_Q21]
1. 27

[Option ID = 7881]
2. 36

[Option ID = 7882]
3. 32

[Option ID = 7883]
4. 29

[Option ID = 7884]

17) Xis as much younger to Y as he is older to Z. If the sum of the ages of Y and Z is 36 years. What is the age of X?
Y 3 X 3co11 & 811 3 ol a8 Z A w318 Al Y 3iiz Z &1 3y ot Aot 36 ad 3, at X &b sy a=ir 3 ?

[Question ID = 1972][Question Description = S2_qSNz_PG_GP10_Q22]
1. 16 Years/16 ad

[Option ID = 7885]
2. 15 Years/15 ad

[Option ID = 7886]
3. 18 Years/18 ad

[Option ID = 7887]
4. 20 Years/20 ad

[Option ID = 7888]

18) Two persons are walking in the same direction at rates 3 km/hr and 6 km/hr. A train comes running from behind and passes them in 9 and 10 seconds
respectively. The speed of the train is

QX cufes uas & fom & 3 fpal. / & 30 6 fRp.all. / &ie &t arfer A et B 3 v YePIE Joid WD A 3iredl 3 3112 Jord Ut A 9 3R 10 ABS 3 ISR SIrcdl 3 Iernst 6t a1fer 3 :

[Question ID = 1973][Question Description = S2_qSNz_PG_GP10_Q23]
1. 33 km/hr/33 fp.aft./ der

[Option ID = 7889]
2. 22 km/hr/22 Roaft./ der

[Option ID = 7890]
3. 44 km/hr/44 foaft, / der

[Option ID = 7891]
4. 35 km/hr/35 Roafl. / ger

[Option ID = 7892]

19) Given below are two statements

Statement I: Between 4 and 5, the minute hand and hour hand of a clock coincide at 20 minutes past 4.
Statement II: Between 4 and 5, the minute hand and hour hand of a clock are at a right angle at 40 minutes past 4.
In light of the above statements, choose the correct answer from the options given below

o< Qf weror Ry are 3 &

et - | 1 43k 5 D i, v @l & fere siiz d@e arclt Jyzai 4 g5 w2 20 fieic uz v Arer dl 3

et - |l @ 4 3k 5 @ ffa v gt 6 Biore 3iiR #H@earcdt Jgai 4 oot a2 40 fBiore Uz AADIOT UR Bl T

SWRITH DUl D 3ATellD 3, ofd fRu 31w frpedl 3 A 78 = @1 =it BT :



[Question ID = 1974][Question Description = S2_qSNz_PG_GP10_Q24]
1. Both Statement | and Statement Il are true/wermer | siiz || Sl 21 &

[Option ID = 7893]
2. Both Statement | and Statement Il are false/@eror | sfiz || Gleil srier &

[Option ID = 7894]
3. Statement | is true but Statement Il is false/wert | A 2, fpoq @werer | sRicr 8

[Option ID = 7895]
4. Statement | is false but Statement Il is true/@erwor | 3rRic 8, foboq werr | e 3

[Option ID = 7896]
20) Which of the following statements are TRUE?
A If A's salary is 209 more than B, then B's salary is 20% less than A.
B. By selling 28 pens, a man gains the selling price of 4 pens. The gain is 15%.

C. The average of N consecutive natural numbers starting from 1 is [N;) :

Choose the correct answer from the options given below

fgfafad oyt W ffar Fifse
ATEATIITTB G 20% AT &, A PTAdaTAT 20 % FHEI

B. 28 U< o9 31 US ofad 4 U 31 9| ST & e ary JHfold @eal g1 Y 15% 1
(N;—ﬂ %1

C. 19 ARY T N Tdd WIgea =13l &1 3
e feu T fomedl 5 ¥ T2 SR @ IuE Bifie :

[Question ID = 1975][Question Description = S2_qSNz_PG_GP10_Q25]
1. Aand C only/adact A sz C

[Option ID = 7897]
2. Band C only/@ac B aiiz C

[Option ID = 7898]
3. Aand B only/@act A sik B

[Option ID = 7899]
4. Conly/dae C

[Option ID = 7900]

21) Match List | with List Il

List | List Il

Proposition in Square of Opposition |Resultant Proposition

A, If 'A" is True I. 'I' is false; 'O" is True

B. If 'E' is True Il. 'E" is false; 'A" is undetermined
IC. If 'I' is True Ill. 'E" and "I is undetermined

D. If ‘0" is True IV. 'E' is false; 'I' is True

Choose the correct answer from the options given below:

St -| ot 3t -1l A AR Bifde :

}ggﬁ-l et <11

(Redver aof 3 era$ arrer) (Breae c1a arerer)

A @R A" wca 3 . I srrca 3; 'O wca @

B. R A’ wcar & . 'E' srrca 3; A" aifdreifa 3
C. R 'A' e @ 1. 'E" a2 1" arforertfer ¥

D. af ‘A" e 3 IV. E' s 3; 1 wica 3

offa feu a1e farepeul 9 3 7& sa= gfore :

[Question ID = 1976][Question Description = S2_qSNz_PG_GP10_Q26]
1. A-l,B-ll,C-lIl,D-IV

[Option ID = 7901]
2. A-ll,B-1,C-lIl,D-IV

[Option ID = 7902]
3. A-lll,B-Il,C-1,D-IV

[Option ID = 7903]
4. A-IV,B-I,C-ll,D-lIl

[Option ID = 7904]

22) When a middle term does not go further than producing a state of mental oscillation between two opposite views, the case is of
S b 3q ol faudia zftewlvil & dfa arailes Sieter B Rrarfer 3cuser a2l 2 31l o1dl Srar 3, At A fowaifer¥aa ot Scamiret 3 @

[Question ID = 1977][Question Description = S2_qSNz_PG_GP10_Q27]
1. Fallacy of Viruddha/fawg @1 as aiw

[Option ID = 7905]
2. Fallacy of Prakaransama/yd2urist @I dd GIa

[Option ID = 7906]
3. Fallacy of Asiddha/aiR3rg @t aas g



[Option ID = 7907]
4. Fallacy of Savyabhichara/zcafirar @1 as au

[Option ID = 7908]

23) The Fallacy committed in the argument

"All textbooks are books intended for careful study. Some reference books are books intended for careful study. Therefore, some reference books are
textbooks." is

forgarferRaa aas 3 wierRi aw o 3

[Question ID = 1978][Question Description = S2_qSNz_PG_GP10_Q28]

1. Illicit Major/srder e

[Option ID = 7909]
2. Illicit Minor/arder st

[Option ID = 7910]
3. Fallacy of four Terms/ar uci @1 aas ol

[Option ID = 7911]
4. Undistributed Middle/sifpnfore g

[Option ID = 7912]

24) In an illustration of inference that the 'Sun moves, like other moving objects its position changes' represents
‘It arferefier 3, vt srewr siferoficr avrq &t siifer saacht srafRafer ufkafefa axdl 3 srogerrer @1 W16 3crEvT ATt Yfeifeitea waar 3 ?

[Question ID = 1979][Question Description = S2_qSNz_PG_GP10_Q29]
1. Pdrvavat Anumana/ydad

[Option ID = 7913]
2. Sesavat Anumana/dra

[Option ID = 7914]
3. Samanyatodrsta /mreRrAreser

[Option ID = 7915]
4. Pakshta/ugmar

[Option ID = 7916]

25) Pick the incorrect statement
3fetd delol @ gfora :

[Question ID = 1980][Question Description = S2_qSNz_PG_GP10_Q30]
1. 'Truth' and 'Falsewood' may be predicated of propositions but never of arguments/'zr' siiz 'sRIcr A@ardRI @ ASNUT & AD & Uog, AD D DSl oTat

[Option ID = 7917]
2. In the case of deductive argument, the technical terms ‘correct’ and ‘incorrect’ are used/foemiolcad® s @ @I # Al 312 ‘STetd’ adoiichl ucl aT YRieT 8l

[Option ID = 7918]
3. Inductive arguments are neither valid nor invalid but evaluated as better or worse/smewrelca® das of dl der 21 & 3fi2 of & aRler Ioi! HeAldol IR AT AGAR D U I fep=rr ST &

[Option ID = 7919]
4. The conclusion of a deductive argument follows from its premises necessarily/fopmreicad dw w1 forep siforaria: 3uht smenfyamt 3 foraetar &

[Option ID = 7920]

26) What is Phishing?
fibfofer o= 3 -

[Question ID = 1981][Question Description = S2_qSNz_PG_GP10_Q31]
1. Sending data to a hacker/sii@st @t 32 am fision

[Option ID = 7921]
2. Some-one sends legitimate-looking emails to users/@¥s ifep yeiepail @t der yefler Slot dret -3t st &

[Option ID = 7922]
3. Search automatically for an item on the internet/scoic w bt #ig &t Faafer demer

[Option ID = 7923]
4. Checking the spelling of websites/de=msct &t adoft sticon

[Option ID = 7924]

27) Given below are two statements
Statement I: If the sensor data is outside the acceptable range, then the microprocessor/computer will take action.
Statement Il: Sensors in the control application only send data to the microprocessor/computer when something happens.

In light of the above statements, choose the correct answer from the options given below
il &) weror few are ¢

werel - | 1 Al de a3 rdior! 3o A aE? §, dl ARG QRIR/ BRI BRIAE S8

el - || : Sla @ afta diar 3 B1w ag & Briqur sigpgier 3 33 AFTDIYRIR/ BRI DI DS Nerdr 3
SWRIs @il @ el 3, ofi e a1e el 3 A w18 a2 @1 avIer HifSe

[Question ID = 1982][Question Description = S2_qSNz_PG_GP10_Q32]
1. Both Statement | and Statement Il are true/a@emt | 3iiz | Gl 3 &

[Option ID = 7925]
2. Both Statement | and Statement Il are false/@ermer | siz || Gleil sric &

[Option ID = 7926]
3. Statement | is true but Statement Il is false/w@erer | 11 8 , fvoqg et | st &

[Option ID = 7927]
4. Statement | is false but Statement Il is true/@err | sric 8 , fpog e || 3T 8

[Option ID = 7928]



28) Which of the following statements are correct?

A. A WLAN is a wide area network

B. A hub sends an incoming data packet to the correct device on a network
C. An IP address is assigned to a device at the manufacturing stage

D. A network Interface card is needed to allow a device to connect to a network
E. Routers inspect data packets received over the internet

Choose the correct answer from the options given below

forraifeiRaa wersll ur far Hifse :

A. Secy Uel © Gol U AIsS il olcad &

B. &g (sq) 3ol ardl 3cr ddde @ olcad uz Al ¥asa a1 Nerar 3

C. ar# dl uar faforafor amur 3 & RFarsa @ fore fererffya fosar smar 3

D. fpaft Barsa @t olcaas A siisal &l sigpfer B e dlcads e oIS &l sragamar 3
E. 3czoic ur grd 3er Uadcl &l se? ofia dad &

IWRfTp el 3 I PBlol A DT A 3 ¢

[Question ID = 1983][Question Description = S2_qSNz_PG_GP10_Q33]
1. A and B only/dact A aiiz B

[Option ID = 7929]
2. Band E only/dae B sik E

[Option ID = 7930]
3. Dand E only/@ac D iz E

[Option ID = 7931]
4. B, Cand D only/dac B, C sik D

[Option ID = 7932]

29) Match List | with List Il

List | List Il

IA. Input device  |. Traffic light simulator

B. Output device |ll. Scanner

C. Pointing Device |lll. Speaker

D. Sensor Device |IV. Trackerball

Choose the correct answer from the options given below:

et -1 ot 3t -1l 31 Fafera Hifdre

Rxeht -1 Rt -1l

A. sorye f¥arsar |. <fb arse Rigerce
B. sm3eye Farsa Il. ¥dSorz

C. wargféor Farsa lll. ><frasz

D. 312 Rarsa IV. Tz dict

offd e s fRreseul 3 3 w18 3= gfore :

[Question ID = 1984][Question Description = S2_qSNz_PG_GP10_Q34]
1. A-l,B-lI,C-IV,D-I

[Option ID = 7933]
2. A-l,B-Il,C-IV,D-lll

[Option ID = 7934]
3. AL, B, C-IV,D-Il

[Option ID = 7935]
4. A-ll,B-IV,C-ll,D-l

[Option ID = 7936]

30) What are Firewalls?
BRI drel a1 aiedt 3 ?

[Question ID = 1985][Question Description = S2_qSNz_PG_GP10_Q35]
1. Used for address translation in the Network layer/dlcad R 3t u321 ¢lIcton @ fere geiter aiedt &

[Option ID = 7937]
2. Used to store the Network Interface Card/dlcads s @rS @ #UsRul @ fere gilsr 8l &

[Option ID = 7938]
3. Used for Network congestion control/sicass @stort @elel @ fere geiler aiedt &

[Option ID = 7939]
4. Hardware or software that sits between a user's computer and an external computer/yziicor & BRI 3l a18dt Bwje: D dia o1 SRR srerar Afucder

[Option ID = 7940]

31) According to the Sustainable Development Report (2020), the top-ranked country on the basis of the SDG Index is
dd fert fraré (2020) @ siofAR v 3t Sit Jamic o e uR Adica FeIrerarer 391 3 ¢

[Question ID = 1986][Question Description = S2_qSNz_PG_GP10_Q36]
1. Bhutan/sgrer

[Option ID = 7941]
2. New Zealand/ssficivs

[Option ID = 7942]



3. Sweden/¥dtsar

[Option ID = 7943]
4. United Kingdom/ggrises fasstsa

[Option ID = 7944]

32) Which one of the following waterborne diseases does not require direct contact with water but a host to spread?
forgsiferRaa 3 A fopa Star SIford AT D gAR D 1w Siet A yrael Auads &l oidl aal b ared (81R<) b smagadar it 3 :

[Question ID = 1987][Question Description = S2_qSNz_PG_GP10_Q37]
1. Cholera/3sm

[Option ID = 7945]
2. Malaria/wcisr

[Option ID = 7946]
3. Trachoma/cmr

[Option ID = 7947]
4. Schistosomiasis/RrafikRer

[Option ID = 7948]

33) Paris agreement entered into force when the instruments of ratification were deposited by at least 55 countries which accounted for, at least
forget 3 A Yol ool gferord Icasiol wol arcl wa A @A 55 Toll FRI siopdelol d Yuq ST a2l D dic Ul Fasiiar ggd g ?

[Question ID = 1988][Question Description = S2_qSNz_PG_GP10_Q38]
1. 50% of global CO; emissions/df%aaw CO, 3cwstor @1 50 %

[Option ID = 7949]
2. 55% of global CO; emissions/dfaa CO; 3cisior @1 55 %

[Option ID = 7950]
3. 60% of global CO; emissions/dffaam CO; 3ristor @1 60 %

[Option ID = 7951]
4. 75% of global CO; emissions/dfaaw CO; 3cstor @1 75%

[Option ID = 7952]

34) Biogas has a calorific value of about
TRNBIRI T BelIsRI Alol cPPPT fibden 3 ?

[Question ID = 1989][Question Description = S2_qSNz_PG_GP10_Q39]
1. 5000 kcal per cubic meter/5000 fop.d>ct. yfer @ot afice

[Option ID = 7953]
2. 3000 kcal per cubic meter/3000 fop.det. yfer ot ez

[Option ID = 7954]
3. 2500 kcal per cubic meter/2500 fé5.det. yfer @t ez

[Option ID = 7955]
4. 1800 kcal per cubic meter/1800 fop.det. yfer &t afics

[Option ID = 7956]

35) Under which of the following agreements was it decided to limit the increase in global average temperature to well below 2°C?
forreiferRaa 3 31 Rar Aersiia @ siefior dffaw sikra arueirer 3 giiy @ 2° C A bl ofia Mfda o1 o forofa s s o ?

[Question ID = 1990][Question Description = S2_qSNz_PG_GP10_Q40]
1. Paris Agreement/uf¥1 Jsiiar

[Option ID = 7957]
2. Kyoto Protocol/a=iel Qictastetr

[Option ID = 7958]
3. Montreal Protocol/ifzrer Qiciatet

[Option ID = 7959]
4. Rio Summit/fsit foraz Jwdicior

[Option ID = 7960]

36) Match List I with List Il

List | List Il

IA. State with the highest number of universities |l. Sikkim

B. State with the lowest number of universities |ll. Rajasthan

IC. State with the highest GER in higher education [lll. Bihar

D. State with the lowest GER in higher education [IV. Mizoram

Choose the correct answer from the options given below:

et -1 1 3t -1l e Sif :

REht -1 Rri -1l

A. freafieneril &t siftraas Jivear arar Isa |. Rifera
B. freafdencril &} sgotaar Fzean arerr Asa Il. 3rsrermot
IC. Ica fign & Icaas iR aren aA Ill. frsre
D. gca fargn 3 foworaa siifam aren s IV. RBrsia

offd v s Rrescul 3 3 w18l 3a= gfore :

[Question ID = 1991][Question Description = S2_qSNz_PG_GP10_Q41]
1. A-1,B-lIl,C-IV,D-Ill

[Option ID = 7961]
2. A-ll,B-IV, C-lll, D=l



[Option ID = 7962]
3. A-lL,B-IV,C-1,D-ll

[Option ID = 7963]
4. A-ll,B-IV,C-l,D-lll

[Option ID = 7964]

37) The oldest university in India was:
IR 3 AR Yrloll fRreaferencrr ®lot a1 o1 ?

[Question ID = 1992][Question Description = S2_qSNz_PG_GP10_Q42]
1. Nalanda/aireier

[Option ID = 7965]
2. Takshashila/agiser

[Option ID = 7966]
3. Vikramshila/ fragfsren

[Option ID = 7967]
4. Mithila/fiferer

[Option ID = 7968]

38) Central Universities are:

A. established by the UGC

B. established by an act of the Parliament

C. established by the Department of Education, Government of India
D. funded by the Central government

E. Funded by the ‘Niti Ayog'

Choose the correct answer from the options given below:
B¢ Rreafeencr -

A. g 5it Al grr Fenfia fope s 3

B. g @ uws siftiforaar grr renfira fpe sma 3

C. 9Ira R®R @ fArgn fasmer grr Fenfira fose siua &

D. @& PR GRI fam gifta gk &

E. 'sfifer smeier’ g fora diftra 31 &

ofld R 1w sl 3 A A8 IR @1 Wit HIRIT ©

[Question ID = 1993][Question Description = S2_qSNz_PG_GP10_Q43]
1. A and D only/daet A sz D

[Option ID = 7969]
2. CandE only/@ae C sl E

[Option ID = 7970]
3. Band D only/aaet B sz D

[Option ID = 7971]
4. Band E only/dact B aiiz E

[Option ID = 7972]

39) Gross Enrolment Ratio (GER) in higher education calculated as:
Sea forgn 3 A siidet siofura (Sfi€smR) & srvron foFonerAR &I Sidt 3 ¢

[Question ID = 1994][Question Description = S2_qSNz_PG_GP10_Q44]
Number of enrolments in higher education _ F= e e & g
Total population in the age group of 18—-23 18 — 23 & NG TG T oGS

x100

[Option ID = 7973] . )
Number of enrolments in higher education 3o 12161 H THih - &l I
Total population in the age group of 1623 * 18 — 23 & S HHG ﬁﬁtﬁ"\f@ﬂ

[Option ID = 7974]

3.
Number of enrolments in higher education in the age group 18—23 18 — 23 & AT THg H Ioa &M § A7 &1 T
Total population in the age group of 18—23 / 18 — 23 & AR YOG & o oG
[Option ID = 7975]
Number of enrolments in higher education in the age group 18-23 _ ., 18 — 23 % Y 9g 4 9 e & i & 1w -
4 Total population in the age group of 18—23 18— 23% A TG ﬂ’ﬁ\‘rﬁm *

[Option ID = 7976]

40) Choice-based credit system of index graduate level includes:
A. Core Course

B. Elective Course

C. Ability Enhancement Course

D. Environment Education Course



E. English Communication Course

Choose the correct answer from the options given below:

AR FOINID TR UR TRIel 3renteed @ f¥eqgurett (it & 2t var) 3 fororferRaa onfirer 3 :
A. Je1 (PR) DRt

B. dRew® @RI

C. Aroerar FHaefor ot

D. uzfazur fdrgm drt

E. sio)sht 2iguor ot

offd fou a1u el 3 A A8 IR BT wRIor BT :

[Question ID = 1995][Question Description = S2_qSNz_PG_GP10_Q45]
1. A, Band C only/@act A, B aiiz C
[Option ID = 7977]
2. B, Cand D only/dae B, C 3z D
[Option ID = 7978]
3. C, Dand E only/@aa C, D siz E

[Option ID = 7979]
4. A, BandE only/aact A, B 3z E

[Option ID = 7980]

Topic:- GP10_D2_SH1_SET2_C

1) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ofl fou 31C aTerior @ eATeIYdd UG IAD LR R YS 31T Y5l DI IR I ©

acaret fenermrst Rrerfer a acon @ FRIa: 3l ®R® & vd @ Sierar] ul¥ader @ werrazeu aul Ul 3 ufvador #ioRIsr *rasr uf¥afda 8 sri 2 sz sl il 3 g arcll auf s v
feor am it & & A el 3 werrawsu Acroll aiie uddia &g 3 Rl aiiz st Arora forfdfa G st Ysira aset ofdl @2 urd 3 Ukl arc @ e & afdre Fard ara &, siferago,
qoll @ faedz1, Wers 3R Fotel, Alora af¥ril @ forarfur, JeNell a o aifdIfSIe SemEil Gt Femue, siforifera a siforifdra wricer Sizfl sifefaf2RI @ Soorror a Sia fafyerar & @ o,
31fe @ DRI, rcIfid Jdcerofict 3 A AT 3rerT - 3reml 3R ARIRE WU A ufkEd are g, it wfi¥erfrdbRr zfte 2 sreifiras AT 3iir Fewrare 3, &t adarer Rafer & fere Faverl
g ulRpil arc ® ve s, Rrior gafawr 6t Faiftee gifer & 3, 331 & aifere sifor g8 3

Fera snsBrer Afdfer of ufkplt are vrfazer @ fiemer @ srerIor v 3 iz Rrerfer & gferor @ e aasera seperamd &t 3 31 afdifa & Ruld o1 @t &t A i B = R siir
$AD Yardi @l sl B D fere St B. dxgiiera B sreagian 3 v sroa AR a1fda a2 & o8 wegdRerer Afifer Gt srepeimsii @) 9t wraffoaa o8l fpam srRn snsBrer of 2013
3 & ufersa @ fore Aaraeh & oft b 3ol archl GrRIST B DIE Yo1 o1&l azel Dadt ar - uid ad & celel A AT YDHfia acold i so1d DRI A D foer 3| omRIe sfis=T
&I g3t smucsit B Iygen A Bl Sirer &I sifer B surd o1l A Tl F 3z Yapfer B Fari d Yoifolator 3 Fwsi ad aeltl 9 a6t Gt Aas 3 b qradt & Aaa o odl
S &

Man-made structures are unable to withstand the rain impact due to
Jirora foifdfa i<l aut @1 geira asol offl @2 urd 8 =i :

[Question ID = 1996][Question Description = S2_qSNz_PG_GP10_Q46]

1. The steepness of high altitude areas/sifer 3sars arel &l 6t @t siifen st &
[Option ID = 7981]

2. Change in monsoon behaviour in recent times/sict @ BRI 3t FoRe! ®IAsR 3t uf¥ader g &
[Option ID = 7982]

3. Non-stop rains over a longer period/sifér cidl srafér awm comar auf it &

[Option ID = 7983]
4. Soil accumulation in the plains/dicroft giqi af fart 2fcrrer alar &

[Option ID = 7984]

2) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ofi f3u 31u srerior @l &Arelgdd UG IAD IER UR Y 318 Ysl I Ja? dIfdie :



aclaret femermrst Rrerfer a acon @ FRRIA: 3l DR® & vd @ Sierar] uf¥ader @ weraeu auf Ul 3 ufvador #ioRIsr wrasr uf¥afela 8 sri 2 sz sl il 3 g arcll auf s v
feor =r it 3 & A siel 3 werrawsu dcroll siie uddia &g 3 Rl el st Arora forfdfa G st Ysira aset ofdl @2 urd 3 ufell arc @ e & uftre Fard ara &, siferag,
qoil @ faedz1, Wers 3R Fotel, Alora afl¥«ril @ forarfur, JeNell a srowr aIfdISRIT SeEl Gt Fenuo, siforifera a siforifdra wricer Sizft sifefaf2r @ Soorror a Sia fafyerar & wa o,
31fe @ DRI, T JHdcerofict T A AT 3rereT - 3rerl IR ARRT WU A ufked are g, st uRi¥erferdbRr zfte 2 srefiras A6 ik Fewrare 3, &t adarer Raftr & fere Fawerh
& uf2pf are o1 ve s, Rriel wRifaur & aiferes sifer &t 3, 321 8 waffire sifor g8 3

Jera snsBrer Affer of ufknft are vrfazer @ faemer @ srerIor v 3 siiz Rrarfer & gferepr @ e aasiera sepeiamd &t 3 31 aflifa & Ruld o1 7} &t A i B R sri siiz
$AD Yardi @l sedT Bl D fere St B, dxgiiera B sreagian 3 v sroa AR a1fda @2 & o8 wagdRerer Afdfer Gt srapeisii o1 9t wraffoad o18l fpam srm snsBrer of 2013
3 & ufersa @ fore Jaraeh & oft > 3ot archl GRSt B BIE Yo o1&t azet daet ar - uid ad & celdl A AT YDHfia acold i so1d> DRI A JIRIfD foter 3/ omRIc =1
&1 gt smucTaii B Iyt A B Sirer Bt sifor B srars oISl 31 Al 3 3R y@pfer ot Fari D yorfolarfor 3 Fwst ad aeitl A a3t GrRISH A6 3 6 qrIS & A9 e odl M
oI

Which of the following factors have affected the western ghats?
(A) Sensitive bio-diversity

(B) Formation of human settlements

(C) Flora and Fauna of the area

(D) Promotion of unchecked tourism

Choose the correct answer from the options given below
forgorferfaa 3 A1 o1 BR®I of ufkneh ac o1 genfaa fear 3 ?
A. srcafira FAdgorefier Sia fafaerar

B. anora af¥ =il @1 forarfor

C. &g &t gorrufer siiz sfia - sig

D. aiforifefa uzicet @1 IoorIe

ofi fou 1o fyasedl 3 2 A8} Ia2 goi :

[Question ID = 1997][Question Description = S2_qSNz_PG_GP10_Q47]
1. A and B only/dacr A sz B
[Option ID = 7985]
2. Band C only/@ac B aiiz C
[Option ID = 7986]
3. Cand D only/daet C siiz D

[Option ID = 7987]
4. Band D only/dae B iz D

[Option ID = 7988]

3) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ofi fow 31U srErior @ eAIgdd UGd? IAD LR U U 31T Yol BT IR SIIT @

aclaret fenermrst Rrerfer a acon @ FRIA: 3l DR® & Ud @ Serdr] ul¥ader @ werraeu aul teof 3 ufyador #iToRIsI wrasr uf¥afda 8 sru 2 siiz sl il 3 gl arcll auf s g
feor am &ict & & Y et 3 werrawsu Acrolt aiie udddi &g 3 Rl siie st rora forfdfa G st Ypira asot ofdl @2 urd 3 ufnell arc @ arer & afdre Fard ard &y, siferagvr,
qoil @ faedz1, Wers 3R Fotel, Alora afl¥ril @ foraifur, JeNell a srowr aIfdIfSRIe SerEl &6t Femuo, siforifera a siforifdra wricer Sizft sifefaf2r @ Seorrar a Sia fafyerar & wa o,
31fe @ DRI, IIfAd Jdceroficr ¥ A AT 3rerT - 3reml 3R AR’ WU A ufkeEd are g, st wRi¥erferdbRr zfte 2 sreifiras AT siik Fewrare 3, &t adarer Raftr & fere Faeerh
2 ulRpll arc ® v I, Rrior gafaser 6t Faifte gifer & 3, 331 & waifere aifor g8 3

aera snsBrer Afdfer of ufknpft are vfazer @ fomer @ srerIor v 3 sfiz Rreifer & gferor @ e aassera sejeiamd & 3 331 aflifa & Rulé o1 &t &t Aad i Bo R R siiz
$AD YAardi @l sedT Bl d fere St d. oot B sreagian 3 v sroa Al a1fda @ & o8 wagdRerer Afdfer b1 srepeimsii o) 9t wraffoaa o8l fpan srRm snsBrer of 2013
3 & ufersa @ fore Aarael & oft > 3ot archl GRSt B DIE Yo1 o1dl azel Dact AR - uid ad & clel A AT YDHfia acold i soId> DRI A JIIfRID foter 3| oIRIc M1
&1 a3t smucisit Bt e Ay 3l Sier Bt Bifer B srurs o1t A Tl F 3R YpiT B FaRi D gorfofafor d Fwst adf cPRY TS a6 GrRIE As 3 5 qrRIS D Aad Aewa o AR
S &

A particular state in the Western Ghats has suffered the most because
uf2sft are & v IS a9y @ & Faifte sifor o=l gF 3 ? ariifs

[Question ID = 1998][Question Description = S2_qSNz_PG_GP10_Q48]
1. It has caused most damage on the environment/sor wifavr @ 2mafférs gifer ugars &

[Option ID = 7989]
2. It has most of the biodiversity hotspots of the country/si ot 3t Sta fafderar @ 2rmaifere e wtic &

[Option ID = 7990]
3. The state has many hill stations/2rser 3 soid uddlr zerer &

[Option ID = 7991]
4. The state has too many checks and regulations regarding environment/rser 3t weifaeur Jideft sl Awai faforpr &

[Option ID = 7992]

4) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially



vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ol fou 31U srErior M eARIYd® UGd IAD LR U YS 31T Yol BT Ia? SIRIT @

adaret femermrst Rreafer a acon @ IRRIA: Sl DR® & vd 3 STerar] uf¥ader @ werau auf teof 3 ufvader aIToRIsl wIasr uf¥afeia 81 sri 2 3z sl el 3 dof archl auf s v
oot ar &ick 3 & A siet 3 werrawsu dcroll siie uddla iq) 3 B sl 3l Arora BIffa G sAwT Ysira aset ordl @2 urd ¥ Ukl arc & A1 & ufdre Fard ard &, sifrazv,
doll @ faed?1, Wars 3k wotel, el aRRIl @ forrivr, Jeiell a sroa aiftifSae Il &t renue, siforifa a siforafdra wRicst Sizil sifafAf2RIl @ Ioortet a Sia fafderar @& @ 2ol,
e & BRI, scafire Adcerofier 3 A A4 3remT - eI Sk AR WU A ulkeh arc g, st wRuferdRa zfte 3 srafere ALY sie Fewarar 3, &bt adarer Rrerfer d fore ARl
2 ufpll are o v s, Rrior vafavr &t aifers gifer 6 3, 33 & aiferes sifor 55 3

Jiera snsBrer Afdfer of ufknll are vrifazer & faemer @ srerIor s 3 iz Rrarfer & gferepr @ e awsisia seperard &t 3 31 aflifar B Rulé o1 7 6t Ao i B = R siir
$AD YArdi Dl sl Bl D fore St B. Dxgiiera B sreagian 3 v sroa AR a1fda o2 & o wedRerer Afdfer Gt srepeisii o) 9t wraffoad o181 v srRn sMsBrer of 2013
3 & ufersa @ fore Aarach & oft > 3o archt GrRIST B DI Yo1 o1&l azet Dact ar - uid ad & celdl A AT YIDIa aceld 3R so1d> BRI §A JIIfD fioter s/ omRIc sifds=r
&1 g3t smucsii Bt e Ay B Sier I sifer I surE 1St A Tl 3 3fiR YT I Fari @ yoifolafor 3 Fwst ad aeltl 9 a6t Gt AE 3 b qradt & Aga Rcaa ofl
ST 3

What is the real tragedy with respect to natural disasters in the Western ghats?
af2ieft are & grpferes RAuct & Jgsf & arrafie qrardt o 3 ?

[Question ID = 1999][Question Description = S2_qSNz_PG_GP10_Q49]
1. Loss of human lives/agil <t Siror <t aifor
[Option ID = 7993]
2. The abnormal natural events/sRimen yrapfers deos
[Option ID = 7994]
3. Not realising the gravity of the consequences of climate change/srerary ufsacfer @ ufSumsii & sisfizar bt srgpayfer of Stom

[Option ID = 7995]
4. Downgrading the disasters/fugsit &t 9ft @t wzon

[Option ID = 7996]

5) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the soil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.
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The author of the passage regrets
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[Question ID = 2000][Question Description = S2_qSNz_PG_GP10_Q50]
1. Environmental ignorance on the part of policymakers/sfifer fomfarsit &t werfazvfier srstorar 3

[Option ID = 7997]
2. Vulnerability of high altitude areas/sifére 3ars arct giqi &t sicafei Jdceroficrar 3

[Option ID = 7998]
3. Impact of environmental disasters/uefazvfier fdemor @ gomra 3

[Option ID = 7999]
4. Non-implementation of reports of committees/ifaiferil &t et @ fepenfoaa of fopr Simor 3t

[Option ID = 8000]








